Assignment:

Using PMI, prove that
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ans) £(1) = )2 — 1 = 1(true)

f(2) = (2 ; 3)2 = 9 = 1+ 8(true)

Let f(n) is true
We now, show for n=n+1
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Hence Proved



Ans)ii)
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Ans)iii)
LetP (n) : x** — y?* = (x +y) X dwhere
deN
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. P (n) istrubfoubie1lap

Assume P (k) istt(?ueE. at

x2 — y?k = (x + y) X mwhere meN

We will prove that P (k + 1) istrue.
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where, r = [mx? 4+ y?*(x — y)]

. P (k + 1) istrue whenever P (k) istrue.

.'.By the principle of mathematical

induction, P (n)istrueforn,wherenisa
natual number.



